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INSTRUCTIONS TO CA_I:IDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)
1. Within 10 minutes of the issue of the Question Booklet, check the Question Bookler to ensure that it

contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/invigilators immediately to obiain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hal except the Admit Card
without its envelope.

3. A Answer Sheet is given, 11 should not be Jolded or mutilated, A second Answer Sheet

ot de provided. Only the Answer Sheet will be evaluated,

4.. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided
above,

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at
the top and by darkening the cireles at the bottom. Also, wherever applicable, write the Question
Booklet Number and the Set Number in apprepriate piaces,

6. No overwriting is allowed in the entries of Roll No., Question Bookiet no. and Set no. (if anp)
on OMR sheet and Roll No. and OMR sheet no. on the Question Booklet,

7. Any change In the aforesaid entries is to be verified by the invigilator, otherwise it will be taken
Qs unfairmeans. )

8. Each question in this Booklet is Jollowed by four alternative answers. For each question, you
are to record the correct option on the Answer Sheet by darkening the appropriate circle in the
corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the
1lrst page of the Answer Sheet. .

9. For cach question, darken only one circle on the Answer Shoet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed If you do not wish 1o auempt o
question, leave all the circies in ihe corresponding row g!an!( (such question will be awarded
Zerc marks).

11, For ;nugh work. use the inner back page of the title cover and the blank page at the end of this
Booklet,

12, Deposit only OMR Awswer Sheet at the end of the Test.

13. You are not permitied to leave the Examination Hall until the end of the Test.

14. ¥ a candidate attempts to use any form of unfair mean s, he/she shall be liable to such punishment as
the University may determine and impose on him/her,
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15U/92/17(i)
No. of Questions : 100

Wol Y WA 100
1
Time : 25 Hours Full Marks : 300
1
o 25 wwd yoTE : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section - A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 ({three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.

FH 997-gRaH 3 {F 100 (&) 59 & (wow- o7 F 30 7
Us-g # 70 )1 w9 B s HmX @ woeT w1
% w3 () ofl w1 B v wow g @ A om
7% HIET AN AAF FIART AT B IIF g €

(2) If more than one zlternative answers seem to be approximate to

the correct answer, choose the closest one.

ﬁwﬁmmwmm%ﬁwnﬁaﬁﬁﬁm
qdl IAT Ty

3 P.T.O.
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SECTION-A
TqvE-H

01. To teach in an over crowded class, a teacher is expected to make use of :
(1) Regular content of teaching.
(2) Change the content to seek attention of all students.
(3) Visual method of teaching.
(3) Change the style/technique to make use of ICT.

mmﬁmﬂm&mﬁwﬁmwﬁmﬁﬂm
oifRy : |

(1) fareor 3 Frafa fmwesg &

(2) w ot & et ¥y Ragasg § oReds &)
(3) Taerer & g fafy @)

(@) o E.A. & war 3y vl ¥ e )

02. For a teacher teaching in a class, which one of the following is more
important ?

(1) Maintaining discipline

(2) Ensuring learning

(3) Completion of course as per norms

(4) Taking classes regularly

Ry e # GO WRT SO @ fhg PRy # & -
il it AwEgel o 8 °

(1) STHWEA & I TEA

(2) o @ Al G|

(3) AT B AR UrgamH (HE) B OQU
@) Fafa wg § Fer |/ 98T
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03. If after completion of teacher’s training, a prospective teacher is

obtaining a chance in Provincial Civil Service, he/she is expected to

join in :

(1) teaching profession

(2) civil service.

{3) depend upon parents in making decision.

(4) consider the financial aspect of jobs in this market oriented
modern society.,

« Now-a-days, B.Ed. course has been approved for ODL (open and
distance learning) mode. It is done so, because :

(1} Contact programmes are being organized.
(2) Practice teaching is arranged.

(3) Itis only for in-service teachers.

{(4) Itis the call of the day.

T W4, §1.08. 9EgHH #t siloflo o L ey
e & R il & o 8 lﬁmﬁﬂﬁqum“ﬁﬁs:
(1) 9% HRiHT N e Rear smar 2 -

(2) FRreor sTvary o sy ¥ ol B

(3) ¥E FaW VA TR B faw 6

{4) I& 9%g T O B

S P.T.O,
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0S.

07.

A teachers is supposed to have some value perception. He/She is
expected to give more sLress over which sort of values in these days ?

(1} Economic (2) Idealistic
(3) Democratic (4) Pragmatic

Continuous and comprehensive evaluation is more feasible in which
system of the following ?

(1) ‘Annual session (2) Semester system
(3) Midterm assessment (4) External assessment

Preffafaa @ frg oomel # PR ol aRfea (ST)
Q\W'T&F{EHGW&WEHTWTMW%?

(1) e 9= (2) @RI qonel
(3) WA 3ATHA- (4) TTEA ATHAT

To be successful in any competitive examination, attending coaching

classes has become essential for students. This expensive system is
required to be !

{1} banned.
(2) continued and promoted.

(3) free ship facility be given to poor students in such coaching
centres.

(4) this responsibility may be undertaken by schools
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09.

18U/92/17(1)

(2) F T oY S # aifew )

(3) ﬂﬁvﬁmﬁmmﬁ%mﬂﬁgﬁﬂgﬁmaﬁw
g1 =faw |

(4) &0 STmRE B Rawm & aro e s o

Monitorial system is a form for ensuring :

(1) Initial teachers training.

(2) exploitation of students by teachers.

(3) Self discipline.

{4) Leading task/role for bright students in class.

ST-RrT o O Rl orew @ N g war @)
(1) URPSE Hcfi sTeaaelg afremr &5

(2) ST=9sH BT B F siwor =y

(3) T HAFAET F¥| |

(4) mmﬁm%mwﬁﬂwmﬁﬁl

For a good teacher making proper and regular use of ICT is important,
though it is not so easy in a country like India. But due to
technological advancement, now it has become feasible and suitable
for :

(1) all areas {2) wurban and semi urban areas
(3} rural areas (4) hilly and remote areas
7 P.T.O,
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(1) | &=t & [ (2) &8 oF e At B By
(3) efor A=t B (4) i oF gy &6 @ R

10. Now teaching is supposed to be a profession. Which one of the following
is essential for taking into account to ensure it as & profession ?

(1) Ethics and values (2) Discipline and regularity
(3) Honesty and sincerity (4) Professional packages
sroTRe RIEeT 6 O saar /3un ar wen § 1 frafiiea § |

mmwsﬁ@m%mﬂmmﬁﬁmm&%
N Nasamar g w1 8§ ¥ 7

(1) Y oF 7= ) STaTET od P
(3) dwrrard ud st (4) Sowra gl

11. If in a code language AKASH is written as 1111198, how the word
ZAHAN is to be written in the same language ?

nﬁﬁ?%qwﬁamm orex ) 1111198 ¥ @9 & forem Jman
&, a s & ZAHAN 9= @ 69 avg 8 Raer smam ?

(1) 2618114 2) 2619113
(3) 2618124 (4) 2617124

12. If in a code language the name CHANCHAL is written as 32, what
code may be given for the name BADAL ?

R R T AT & AR CHANCHAL % fore 32 Ryan wmen & &
It AT # A7 BADAL ® g ave 4 fowen wwa ?

(1) 10 2 11 (3 12 (4) 13
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13.

14,

18,

18U/92/17(i)

If a person X is so related with a woman whose husband is his mother's
son and X has no brother, how is he related with the woman ?

(1) She is his wife (2) She is his sister
(3) She is his mother (4) She is his daughter

IR X AW B FE A B Az ¥ 9 g @ gt @
6 gl qftr 3A &1 @1 g & ol X & B WE W & & X

39 wieam 9 &9 R 9 gy Brm ?

(1) @8 IgH g aFf (2) % I FeT 2
(3) I® IuF Wi B ‘ (4) @ SHH ¢ R

i & person is walking from a point 1 mile towards west, turns right
and after going a mile turns left, then he moves 2 miles and turns
again left to move a mile. If he turns right again, then in which
direction, the person is going now ?

(1}) West (2} FEast
(3] North (4) South

JrE HE uff el e @ eEad gu uRem @ odk 1 Hier sy
8, TN o T3a 4% 0% Ao gweT ST g3 o B, ok aw 2
Hier g 1 6T Sk ol geat o S e B w9S A Al
wﬁmﬁm%ﬁmﬁmmmmaﬁaﬁ?m
@& ¢

(1) 9w (2 9™
(3) Iaw (4) feyoT
Find out the last word in the same relationship :
Doctor : Medicine :: Teacher : -------
(1) Class (2) College
(3) School (4) Teaching
9 P.T.O.
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O Gy B IR 9Y AfRTE e B e
iy : TR o EATH ¢ ......

(1) AT (2) e
(3) Remea (4) TRveqoT

16. Find out the odd term in the given series |

(1) Picture (2) Chart

(3) Diagram (4) Film strip

ey St ¥ T 9T S or @ e &t @ sifea -

1) == _ 2) Tanfer=

(3) RE 4) (marE ) e ged

17. ‘Corporal punishment in a school is necessary in order to maintain
discipline.’ Is a given statement with the logic behind ?

(1) [t causes psychological pressure
(2) Children want freedom, the root cause of all indiscipline
(3) It ensures learning in school

(4) Itisin favour of teacher

‘FIMEA A T @Y & fg Reelt Rerera & ardfis <o a |
ey &1 BT S B as wew P & e oam 9X suia
B 7

(1) FEH FATNE S®E a9 @ 8

(2) F=9 Qaar ey ¥ A gl sraneEEeTT 3 A% ?
3) P & @ dg ghitaa &ar @

(4) T wagHt B BRI & B

10
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18. If the letter A is written of 1 cm. width and 0.25 cm. is added in width
of each subsequent alphabets while writing, what will be the difference
in the widthofthe Mand X ? -

(1) 2.25cm. (2) 2.50 cm.
(3) 2.75 cm. (4) 3.00 cm.

Y e A B 1§74, MR & B o oY IED ug B
g ST o & el & dimd F 0.25om. N IfE @
gU 9 & foran Sy oY sRe B 5w g @ @ g s M
M X & e # e g g ?

(1} 2.25§.%. (2) 2.50 7.4,
(3) 2.75&.H1. (4) 3.009.9.
19. Which one of the following is mismatched in the series ?

(1) Delhi ' (2) Lucknow

(3) Kolkata | (4) Hyderabad
ﬁwﬁmwﬂﬁa—mwmﬁm%l?

(1) Rl (2) TEFTH

(3) IR (4) B

20. If a passenger train A has to cover the distance of 280 kms. At the
speed of 35 km/hr and to stop at 20 stations each for 4 minutes
duration and another train B has to caver the same distance with
40 km/hr speed and to stop at 15 stations each for 10 minutes
duration, which train will each at the destination, first ?

(1) A (2) B
{(3) Both at same time {4} uhcertain

11 ' P.T.0.
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21.

23.

afx fret warll md A @ 35 B, v gt v @ 280 Moo
% gf 20 Rt 9T TR & T FI A @B 8T WEF W 4 H{IAE
r cEa &, R A g@d M B @ I g B 40 A avy
) T A 15 VI 9% S §E a9 HI & T g8E 9T 1T
o SeTE 10 Fee @ & & e aen - e qee dgErl ?

(1} A (2) B
(3) I TA-TY @) faftea
Higher education is basically concerned with .

(1) Providing knowledge (2) Creation of new knowledge
(3) Propagation of knowledge (4) Preservation of knowledge
Ieafden e eied €

(1) I W& & § 2) 9 I & gIH §

(3) A & g9 |/ (4) A & HW9 §

Deposition activity is done by flowing water mainly, in its |
(1) Upper part of course (2) Lower part of course
{3) Middle part of course (4) In all parts of its course

gafew o1 & &0 FAqUIeTe FRl gEa $T9d N4 99 &
(1) S0 5o § e onen 8 (2) P owe F Rear sen @
(3) A sy A Prr STn @ (@) | Wi 7 e e R

One of the important characteristics of ‘Scientific mind’ is :
(1) Logical thinking {2) High intelligence
(3) Divergent thinking {4) Creative thinking

12
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AMORE T W o FEEYel Ao 9w Ry
(1) s R @ S (2) I=g gfT w1 BT
(3) THIE R @ @ (4) "ITs = @ 8

34. ‘Education for All’ means :
(1) Education is to be made accessible for all
(2) Enrolment in education may be mandatarj;r for all
(3) Retain in school may be mandatory for all
(4) Providing with quality education

xR frew’ @ argd g2 &

(1) f2en & 9@t & Re o svwer g

(21 M % R B & 9w 03 @ afard g =
(3) Hﬁ%mﬁmﬁﬁaﬁﬁﬁﬂ%aﬁm&m
(4) TIVIEARTIAT 307 g=sw sy

2s. Enhgncing the duration of B.Ed. course from one year to two years is
required from educational point of view, to :

(1) Provide with quality teacher education and training.

(2) Resolve the issue of trained unemployed prospective teachers.
{3) Cater the growing demrand of teachers in society,

(4) Improve school education.

#le T80 B A |
o ma;qm%m D O A DN af I g7 N
(1) Joraw o HAGs Bem ofv afmer 3 gy 8
(2) FrET AT TR HemaRt W TRy W oee &

(3] awﬁﬁwmggmm‘qﬁwﬁh@ﬁ

(4) et Ren & gue/a=R &

13 P.T.0.

L]
gcollegedunlaa
India’s largest Student Review Platform

T



15U/92/17(4)

26. From education point of view, uniform educational system is essential
for :

{1) Ensuring the requirement fulfilment of rights to education
(2) Catering the need of poor students
(3) Enhancing the quality of private schools

(4) Improving educational standard in government schools

mmqﬁeﬁ'ﬂmﬁmm’mﬁaﬁ%ﬂﬁs:

() ReEn B ot & B oewat & g gifes et
(2) ThE Bt @ sasgarelt @ gt Bl

(3) i ot @ e # 3FEA 8N

(4) e frenerat d it @ # gui Ben

27. In our existing school system talented and backward both category of
students are neglected due to : '

(1) Lack of economic and other resources
(2) Lack of educational st up

(3) Lack of teachers

(4) Lack of guidance services

aard oefr Rreeria gl ¥ oftwers oft Red ge o &
it & o el /aulta wa B 3aH FRT 8

(1) nf¥iF od o= HEIUA & 9
2) Afrm ol Fer (f= o) H A9
(3) fmwRt & oTHE

4) Fam @& 1 9™

14
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28. If is often said that though educational qualifications of people are
increasing but their mora} and ethical standard is decreasing day by
day. It is happening perhaps due to :

(1) Our defective system of education
{2) Lack of national policy of education
(3) Lack of educational planning

(4) Lack of proper linkage and relationship between education and
socicty

wm:mm%%wﬁﬁﬁaﬁmzﬁmﬁwuﬁ%aﬁﬁ
ﬁﬁmeﬁtmmwm%ﬁwwﬁ,ﬁmm:ﬁrw%:

(1) B9 70 faen gonefy & s
(2) T Rrm ARy & o & sy
(3) A%ep P & 1w B BT

(4) ﬁmaﬁ?w%mmmqu%m%
LY

29. ‘National Council for Teacher Education’ (NCTE) was established in
the year :

gug‘m AETh FEn 9Reg’ (odlodtodo) it warger Ry o 5d
(1) 1986 2) 1992 (3) 1973 . (4) 2000

30. Three R’s do not include : .
(1} Reading (2) Writing

(3) Arithmetic : (4) Recreation
‘W A’ (3R'e) F oTfifRE wd B
(1) 9eAr (2) RE=T
(3) SFmnfory (4} TN
15 P.T.0.
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SECTION-B
Hqg-§

31. Kilo watt hour (KWH) is the unit of electrical :

(1) Energy (2)° Power

(3) Force (4) Work done
RRETE STER (Fowagodw) W ¥ gt ¢

(1) S AN (2) AfRT W

(3) = = (4) Y T wF A

32. The isotope used in carbon dating 18 :

e e faien § Am-w areates sar fia ¥ ?
(1) v (2) c® (3 c» 4 C*

33. Mercury is used in Thermometers because :
(1) It is very shining. |
(2) It is liguid metal.
(3} It does not wet the walls of thermometer.
(4) It's surface tension is very high.

qT 1 T et # e Sien ¥ e
(1) T8 FE S B 8

(2) T8 =9 Wy ¥

(3) a8 wwide @ darat @ Wer ¥ HEn
(4) TOHT U qE agh Saran v ¥

34. The Bernaulli’s theorem is based on the princii:le of

(1) Conservation of momentum (2) Conservation of energy
(3} Conservation of mass (4) Conservation of volume

16
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TN = g9 fre Ryer gy TR ®7

(1) 97 "@rmyor (2) oIt gty

(3] FoUH™ Tyeor (4) AT wwyor

. Temperature of an ideal gas is increased from 120° K to 480° K, If the

R.M.S8 velocity of the molecules of the gas at 120° K is o m/sec then
its value at new temperature will be :

1} 20 m/sec (2) 'tzim/sec

(3) f':” m/zec 4) 4v m/sec

TF 2y A Hy amy Jzoﬂxﬁwwomarfﬁmmmﬁmﬁ
1200K 9 6 & st 1 qomtone 4 Mo B ar 92 O uy

(1) 2v Fo, Bo @ 3 Mo Ao
(3) Eﬁ?o/ﬁo (4) 4p Ho Ao

- The temperature below which a gas can be quuified by increasing
pressure alone is known as .

(}} Boyle temperature (2} Critical ternperature
(3) Neutral temperature (4) Inversion temperature

wmﬁ@ﬁ%whﬁ%mwmm
mm%sﬁm_%mﬂﬂ—mmm%?

(1} I Ty (2] =ifass &g
{3) I=rEd= am (4)  FTHETT TIg

17 P.T.O.
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14,

qasmaﬁﬂufa'&uaﬁmmﬁsﬁomﬁwaﬂﬁﬂﬁﬂq
aﬁﬁumummﬁmsvammwm%%mwﬂﬂ
Gﬁgﬁaﬁqﬁimmmaﬁﬂﬁmaﬁm:.

(1] 1000 3™ {2) 1040 309 (3) 9960 AR (4] 960 A

_In the Young's double slit experiment white light source produces a

central white fringe and the colours of bright fringes on either side
of it are as follows :

(1) The inner edge is red and outer edge blue.
(2) The inner edge is green and outer edge orange.
(3) The inner edge is violet and oute: edge red.

(4) The inner edge 18 red and outer edge violet.

qeTL T BN B

(1) mmﬂmwmmw
(2) mmmmmmw
(3) Serfy P el e Al AT e
(4) ﬁaﬂﬁwvaﬁrﬂmamﬂﬁmn&ﬁ

The series of spectral lines in the spectrum of hydrogen atom that

lies partially in the ultraviolet and partially in the vigible region is
known as :

(1) Balmer series (2) Lyman series

(3} Brackeil serics (4) Paschen series

20
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47.

15U/92/17(1)

srEStorT AT @ Waw A @ Y@l B A A sk o
A quEtr our ot ST S g 6 F ol ¥ 3 Fea ¥ -

(1§ ol (2) #EaT 2oft
(3) Fdme ARt (4) qrEE= Soh

The fundamental unit for textile yarn and fabric is :

(1) fabric (2) fiber
{3) cloth | (4) thread
W‘L’Eﬁ,ﬂﬁtﬁwmﬁwwﬁﬁ:
(1) P (2) wEET
(3) Ty 4) os

“Sericulture” is related to production of :

(1} Wool (2) Jute
{3) Silk (4) Cotton
Fheeae Pratafad 3 sasy § adma ¥
(1) A (2) e

(3) W (4) Hleq

Following is a mono unsaturated fatty acid :
(1} Palmitic acid (2) Oleic acid

(3) Linolenic acid {4) Linoleic acid

21 P,T.0,
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88. The three basic nutrient which constitute our diet are !

§6.

87.

(1) Protein, carbohydrate and fat
(2} Protein, water and fat

(3; Carbahydrate, water and fat
{4} Carbohydrate, milk and fat

gt anee B A IRy dins a9 € ¢
(1) M, mﬁazqaﬂm

Vegetables are mostly pickled using :

{1) Sugar (2) Spice
(3) Vinegar (4) Benzoic acid
gt WER T W 3 ggw gnw #
(1) =0 (2) HEE
(3) R (4) F=NZH T
Communication process is initiated by :
() Format _ (2) Sender
(3] Receiver (4) Message
T aftear & uriveE &
(1) uraq (2) S
(3) et (4) RW
24
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S59.

60.

61.

15U/92/17()

Following is an audio aid :

(1) TV. (2) Chart
(3) Over head projector (4) Radio
F=fafaa o s/ anE B

(1) &h (2) =nd
(3) HAARET TATET 4) Wy

Which of the following relations for expressing volume of a gas is no
correct ?

{1} 1L=10% m? (2) 1L=1 dm?

(3) 1L=10? m? (4) 1L=10% cm?

P d 8 BF-a ' @6 @ o B wd &9 # w4l
T & 7

(1} 1&eT =10% M e (2) 1WWET = | g2 v
(3) 1T =10° gl (4) 1deT =10° g9R oMo

The root mean squeare velocity of gas molecules is equal to :

o oot @ @t A gw A awEY A B

JERT IRT QRT 3R’
- A R .

NH, can be liquefied at ordinary temperature without the application
of pressure. But O, can not, because : °

(1} Its critical temperature is very high.
(2) Its critical temperature is low.

(3) Its inversion temperature is high.
(4) Its inversion temperature is low.

25 P.T.O.
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63.

63.

NH, & |rer areE 9 R T| w0 o (e gy sRa R
M wEwar ¥ aveg O, & A, FiF

(1) T HEs agHE S8 ~awrT B |
(2) T WIS AIE HH B
(3) SH SSEY AT T B
(4) TEEHT FEPH AIRT TH & |

The hybridization of 8 in SF, is :

S =0 SF, 3 ®Fau ¥
(1) Spid? (21 Spid (3) dsp? (4) Sp®

fransition of one mole electron of hydisgen ntom from n=3 level to

n=2 level results :
(1) Lyman Serics (2) Balme: Seiies

(3) Paschen seres (4) Brackett series

ST GUA] & U WA TR @ n=3 ©T @ n=2 T H
HEwor &1 afeons @k ¥

(1) T HE (2) I T
(3) I HE (4) e gE

The molecule which does not form hydrogen bond is :

T8 I A EETA T T Fvn, 9% ¥ o
(1) HF . (2) HO (3) CH, (4) NH,

36

L]
gcollegedunlaa
India’s largest Student Review Platform

—



15U/92/17(i)

49,

BO.

Frfaiaa ©F e rEae 79T o ¥

(1) oIffes o (2) ANNEH T
(3] Rrdfrs sr (4) RrFiTa. or=w
Following is a common symptom of vitamin A deficicncy :
(1} Rickets (2) Bery-bery
(3) Scurvy (4) Night-blindness
Freifeiaa Rl g &t =g=ar @ Iqem @eor B ¢
1) R&zg (2) «hHId
(3) wHdl (4) T
Edible oii is mostly ad;.l!taratcd with :
{1} Olive oil (2) Argeraci oil
(3) Peanut oil (4} Red palm oil
g drg &9 § =gy fFemEe @ o ¥
(1) oo o 2) oM A=
(3) Hrwett A= @) I= 9 =
Following is a dry heat method of cooking food :
(1) Baking (2) Pressure cooking
{3) Boiling (4) Steaming
Prerffe \io g 3 gerag fafy &
(1) P (2) SR FEn
(3) I (4) qrsqs

22
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68. The missing projectile in the reaction :
iH+? > H+!nis:
(1) Proton (2) Neutron
(3] 7-ray {4) Deuteron
TR T ATHRRET F anger Jarg R
iH+?25 H+ !nis:
(1] =Rt (@ =ILH
(3) 7- o - 4) 3gsH
66. The equilibrium constant (kc) for the reaction is

Re g sifuikar @ arg Ruxis (ko) 2
CaS0,.5H,0 (s} = CaS0,.3H,0 (s) + 2H,0 (g)

[CaSO,.3H,0]{H,Of [CaSO,.5H.0]
[CaSO,.5H,0] ) [Cas0,3H.0)(H,0}

(3) [H.0F (4)  [H,0]

67. The yield of the product in the reaction :
N,(21+3H,(g) == 2NH, (@) + QKJ
Would be higher at :
(1} High temperature and high pressure.
(2) High temperature and low pressure.
(3} Low temperature and high pressure.
(4) Low temperature and low pressure.

a7 P.T.O.
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81. Sugar found in milk is :

(1) Sucrose (2) Maltose

(3) Lactose | (4} Glucose

g9 & qF 9 Al A @

(1) Yehist ' (2) i

(3) S (4) TEH
82. Disease caused by deficiency of iodine is :

{1} Anac¢mia - {2) GQGoiter

(3) Rickets (4] Scurvy

A & F q & qIw AT B

(1) ot (2) ¥EEeX

(3) R . (4) &Rt

83. 10 gm of sugar provides kilocalorie ;

10 AT BT A O B el e & ¢
(1) 20 (2) 10 (3) 60 (4) 40

84. Focal point around which other resources are allocated and used is :

(1) Skill (2) Time

(3) Money (4) Energy

Bz g Brad fam & o et @ oder Pear S @ ¢
(1) =|mea {2) 994

3) &= @) St

23 P.T.0,
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68.

69.

70.

Ru T STRRERT & SO H AT a@E @ g ae @ aRRuiy erl
N,(g)+3H,(g) == 2NH, (g) + QKJ

(\) I=F A9HM Y I=9 ZEE |

2] I=F @A™ uEyq e gEE

(3) = agEE ogg 3= 394 |

4) Pr= o Ty e s |

AS, S, is'a -ve sol. The ion with highest coagulating power is :

.aszsatm-—vem%lwfamwmmwﬁw

(1) Na’ (2) Ba¥ (3) Fe* 4) Sn*

in thermodynamtcs, G = H-TS, where Sis:

(1} Enthalpy (2) Entropy

'1'3) Free energy {4) Internal energy

Foqr 1 3, G = H-TS, 961 § B :

() wawd 2) QA

@) g A (4) T=fEH Al
The praoducts of hydrolysis of Lactose are :

{1} Glucose & Fructose (2) Glucose & Glucose
(3) Glucose & Galactose (4] Amylose & Glucose
AT § A@-TqUST H IgX ¥ .

(1) TgERE 3 pErerd (2) IR SNR TR
i3) wERE 3T AdEd (4) THEE R R
28
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71. The process of zone refining can not be used for

(1) Silicon (2) Germanium
(3] Gallium (4} Calcium
HET qitshyer &t ffy oS Ra w3t w8t w7 g3
(1} s (2) SIAfTgy
(3) ey (4) Hehgn

72. The monomer used for getting the polymer TEFLON! js .
TSGR B A A B Ry s g B
(1} CH,-CH=CH, (2) CH,=CH-CI
(3} C.H,-CH=CH, (4) F,C-CF,

73. In Pamn?er?m Aureliq, tt{c method of nuclear reorganization followei
by the division gf body within single individual, without any nuclear
exchange or fusion is called ag :

{1) Amphimixis (2) Endomixis
(3) Hermxis (4) Conjugation

WW&MMWWGﬁmmﬁW
‘ _
gﬁmmmgﬁfﬁm.ﬁmmmmmwmm

(1] chinfag (2) ZeEAfray
(3) BRI (4) FRIAYH

74. F)lc:lc.:u-rrence -crf -structurally and functionally different types ot
individuals within the same organism during its life-history 1s knowr;

as ;
(1) Polymorphism (2] Metamerism
(3) Metamorphosis - (4} Polymerism

29 ».T.O
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75-

76.

77,

%ﬁﬁm%aﬁaﬂmﬁmqﬁmuﬂaﬁa%

Y 97 - |

(1) 4gedg vge - {2) REUE FEER

(3) B (4) TEENT faEEH

Green gland is found in :

(1) Nerets (2) Obebhia

(3) Pua (4) Palaemon

=fe o arFft ol @

(1} g (2) ARk

3) & (4 #Fm

Bipinnaria larval form is found in the phylum :

(1) Annclida (2) Arthropoda

{3) Echinodermata | (4) Mollusca

qief-ifim de-fEa & @@ grEr e ©

(1) TS (2) omTgYST

3) FWAEHS (4) HAAEh

Larval form in polycheta is known as :

(1} Tornara (2) Trochophore

(3) Glachidium - (4] Brachiolaria

qrfieETeT & de-fEa @eq W S o

(1) (2) ZRPRIPIT

(3) TARISAH (4] SfFaEnfEn
30
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78. Which is not a chordate character :
(1} Dorsal hollow tubular nerve cord
(2) Longitudinal supporting rod-like notochord
(3) A series of pharyngeal gill-slits
(4} Diplablastic

(1) WWWMW

() TS oTRed guefy 79 oy
@) IO TEHS H wF e

(4) wOI-PBwd
79. Which of the following animal {s not a vertebrate ?
(1) Frog (2) Fish
(3)° Sea horse (4) Sea squirt
T § HEE oot ol &
(1) 9eH (2) Ted
(3) W gz (4) WA urreren
80. Members of order Dipnor are commonly known as :
(1) Cowfishes {(2) Pipefishes
{31 Lungfishes (4) Catfishes
Mm%mam'&n'wmﬁtm%%:
(1) FrHaT 2) NeqipaRy
(3) wfeaw (4) Hefriy

81. Catadromous migration 1s concerned with movement of fishes :
(1) From fresh water to fresh water
(2) From salt water to fresh water
(3] From fresh water to salt water
(4) From salt water to salt water

31 P.T.O.
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82.

83.

84.

%agmtwqm%waﬁﬂwﬁqa%

q W o
(1y #er s | HFr =" (2) g ==
3) e I 8 agoia 9 (4) el sw § FEeia S

which of the following is not a function of air-bladder ?
(1) Respiration {2) IRﬁproducunn _
{3} Hydrastasis (4) Sound production
% A & graea @ e A

(1) saga Bea () SFF BRa

3) smgrefhg (o Fres) (4) Tfq FRA

The third eyelid in frog is called : |

(1) Pineal eye (2) Upper eyelid

(3) lower eyelid {4) Nictitating membrane
A 1 ghE A= orET ¥

(1 R A= (2) I AR

(3) el AEET 4) Fe g

The poisan gland of snakes are modified :

(1) Labial gland (2} Sweat g;]and

(3) Lachrymal gland (4) Uropygia! gland
af & g afy oiakla @ &

(1) @ ™ (2) @% Uy

(3 oy (4) Fhadfae iy

_ Heart in crocoriles 1s :

(1) Completely 4-chambered (2) Incompletely 4-chambered
(3) 3-chambered (4) 2-chambered

32
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OTES &7 85g % -

(1) et =-Avf (2) oTYel eR-Jewh
(3) F=-Ah 4) V-2Ah

86. The study of birds is known as ;
(1) Ornithology - (2) Herpetology
(3} Ichthyology (4) Qology

gt 1 vy war €
(1) STt qafterey (2) sfETh Figume

(3) SirgASITSIT /AT 4) S gy
87. Which hormone is used for ripening of fruits ?
(1} Auxin (2) Ethylene
(3] Cytokinin {4) Kinetin
oWt B g ¥ BEE S @ wET BT 2 7
(1) A= (2) TugH=
A) TWREEHEfAT (4) FZAfew
88. The capsule of fern sporangium bursts at ;
(1] Stomium (2) Annulus
(3} Placenta (4) Romenta
5 % oo B dge 8 gear ¥
(1) €fem . (2) oI
(3) <A (4) W=
89. Complete dominance is absent in :
(1} Pisum sativum {(2) Lethyrus odoratus
(3) Solanum nigrum (4) Mirabilis jalapa
33 P.T.O.
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91.

92.

93,

guf geifyeren Fre® srguRerm &an @ ¢

(1) GrFew% GeEan (2) @eEYT SATHET
(3) ATH I (@) Profafera orerdr
Cadon is present on :
(1) t.RNA. (2) m.RNA. (3) r.RNA {4)
FsH fFe 9T Jaftem o ¥
(1) o IMToTTcTo (2) THoNoTROLO
{(3) HiRo HoTHTo . (4) do THoTo
Winged seeds are found in : '
(1) Pinus (2) Cycas
(3) Ranunculus (4) Papaver
dEgR A fBFed gl SR ¥
(1) 9T (2) &9FT
(3) FTTHTT (4) 997
Pollinium is found in :
{1} Croton (2) Calotropis
(3) Pea (4) Sun flower.
yfefaw Reest arar s B
(1) TEE (2) depmT
(3) WX (4) gIgEn
Example of partial root parasite is :
(1) Cuscuta (2) Santalum
(3) Viscus - (4) Loranthus

34
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mmmﬁwma:

(1) weger @) =T
3) By (4) @R=T
94. Which one of the following is known as Bog Moss :
(1} Marchantia (2} Anthoceros
(3) Sphagnum (4) Porelia
= A8 R Ry A w2
(1) .&rehi~aar , 2) GGy
(3) =BTEH (4) wRar
98. The membrane of vacuole is known as ;
(1) Jacket (2) Tonaplast
(3) tonoplasm (4) Reticulum
Wyt & e Fead & o
(1) S (2) AT
(3) ST (4) e
96. Synthesis of D.N.A. takes place in :
(1) G-1 phase (2) G-2 phase
(3) S- phase (4) Both G-1 and G-2 phase
FNoTTolo FH HyAYT py orgeenm # &ar B :
(1) G-1 ey 2) G-2 ey
3) S- TN (4) G-1UT4 G-2 e 4t
97. Pneumatophores are found in ;
(1) Opuntia (2) Rhizophora
(3) Orchids ' {4) Cuscuta
38 P.T.O.
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98,

~ArdrTe e o wwh ¥

M
(3)

siaf~aar (2)
ST (4)

TTABIRT
T

First stable product during dark reaction of photosynthesis in C,
plants is:

(1)
(2)
(3]
(4]

Oxalo-acetic acid

Phospho glyceric acid
Phospho glyceric aldehyde
Ribulose 5- phosphate

Wepel HYNOT 3 JHHING AR 3 |99 gaw T IETE a0

%

(1)
(2)
(3)
(4]

rre-gafes o
EIEpIRARlE Ine
HEHRAARS FSIBRS

TAGANH-5-HTEDT

Saffron is obtained from :

(1)
(3)

Crocus sativus (2)

Cocos nucifera (4)

8w BEd we Rpar e ®

()
(3}

I HIrETR (2)
Py JAHT (4)

36

Foeniculum vulgare

Anethum gravealens

BIENGAT FERIT
aerT MR
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100. Coffee plant belongs to the family ;

(1] Solanaceae (2) Rubiaceae

(3) Apocynaceae (4) Euphorbiaceae

e B Ny Bew g @ R

(1) AW - (2) g

(3) qErEEA (4) gHERPTEH
37
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ROUGH WORK
™ wrd
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ROUGH WORK
% wg

39 | P.T.O.
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10.

12.
13.
14,

arwafér & forg Fdw

' m&mmwwmm-wirm}'w?'w

* drrer - wo anr-vnyz 37 @ o v
mmﬁaﬁﬂamﬁw%wﬁiﬂﬁﬁﬁmiﬂcwﬂq&ﬁd\tﬁ
m@aﬁélgmﬂtgﬁmimmwﬁmmw-mﬁmm
TEATR & qE e S H W
ol S 3 forosT o si-a & s, Rl W W Y GE F A
§ 3 . |
p———t o SR EL R EF s Lh o e 3w o Ty vy
#aor uv.ow w7 o gewiew forar omdm
mwﬁmm&:wﬂwmm—wmhﬂﬁmmmf@l
m-u#mwwh#mmﬁﬁnﬁamwﬁmaﬁﬂ#mmf

et &7 8 mf-wﬂmﬂmm-gmwmmmeMﬂﬁ
gv Rrdd

s (g : mmmwﬂzwméfﬁ)m
dwzgmw# o T:m# o Wwo o ux Fany & a3 sfther wt S
i

mmiwmmummmmmmu ow orgfny
wWaT W NG " S
m-gﬂm#'ﬁa'mtmmmﬁiﬂﬂnﬁa'mtmmtm
syt 3uz-wr ot wetEy G i ad A mE g ) yev-nr & paw g ov AR
& Fammear

gm?;m%mmmﬁwﬁwﬁlﬁﬁmwﬁwmﬁ
T Y O 99 W QWA T 98 IR W IR
mfﬁwmmqummnfmmhﬂmMmmm

o7 & okt & o) oty afew % A A e sl e W et Oy &1 OR R T g
S i st

& w7 % R - g % ey & st o 76 A IR ¥ A 7o
& AW # |

Ty ¥ 390 Saw & gF o awT-oF Ve W § T W &

o T B @ TR v WA ¥ A I F Sl 6 g

af 3¢ sl T % S WA w9 i e 8, o A Preafrorers g Fraif
¢z T/, Wil sm/g
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